


EQUALLY SPACED
ON $41.2+0.2 PCD

@141.1

+0.4

-0.0 PCD

WITH A MAX 0.4 GAP
ALL AROUND)

@171.0 MON.

DIOROD

i

086.0

\%V\—:"\T_
L NN N NN T R R N S e e <
| [ 7 73 7 — \ LU
TV g i Tl i ) ;V B
(U}
=
=8a
i, 2R I e <T = ||H==
/ S
W
e O
// 33E
T // +m.a.
@Kf l ~N = |
T RS A T e SN A LAY N ot ‘ )

SEEEDEHE

o

M6x1.0 -6g/6H

8.0 FULL THREAD

) FEE— e
|
\ X N\

M10x1.5 - 6g/6H j
GLAND CAP CLEARANCE
HOLE @11.0/11.27

ENGAGED AS MIN.
THREAD LENGTH
8.0 (12.0 NOM.)

1 | 2 | 3 i 4 5 | 6
43.0 40.0 (37MIN.) 28.0 M6 X 1.0 - 6g/6H EARTH SCREW
3 MAIN SOCKETS 3 ' A 16.6NOM (12.5 MIN - ot - 5.0 MIN. WALL THICKNESS eSS
FLAMEPATH LENGTH SWAGED AFTER ASSEMBLY BEEE

HIGH TENSILE BRASS - NOTE 7

ILOT KET 20 | 1 F-89237 BLANKING COVER
LT S0 = 26.0 = SECTION VIEW A-A 39 [ 1 201-312 PILOT CONNECTING PIN COPPER-SILVER PL. C14700 TO AS1567-1997
ON (66.6+0.2 PCD a7 38 | 1 | F-201-356.1 425A MAIN CONNECTING PIN COPPER-SILVER PL. C14700 TO AS1567-1397
4 HOLES ¥13.50 0. 30.2 32.0 (31 MIN.) 37 | 1 F-89348 300A MAIN CONNECTING PIN COPPER-SILVER PL. C14700 TO A51567-1997
C ——— SPA(;EO[-)OO - = 36 | 3 4816 BOLTED COUPLER MAIN INSULATOR - LOWER PTFE C
THIMBLES 35 | 3 | AI019068 O'RING ID 32 X SECT 1.5 NITRILE
TR T T MARKING DETAILS 34 | 1 4817 BOLTED COUPLER PILOT INSULATOR PTFE
- mm -D. : BOLTED COUPLER 33 | 1 4023 300/425A FACE SEAL NITRILE
201-432 25 8.0 38-92 Cu MiPeme 32 | 2 | AH201364 CONTACT SOCKET SPRING ST. STEEL
INSULATION WALL 201-302 35 2.5 38-115 Cu AA@HAT2 31 [ 1 Al019065 O'RING ID 7 X SECT 1.0 NITRILE
THICKNESS 1.6 MIN 201-303 50 105 38-115 Cu @ AMPS 3=300 # VOLTS 6=660 30 [ 1 AID19073 O'RING ID 10 X SECT 1.5 NITRILE
L : 3 201-303-1 70 12.8 38-142 Cu = =1100 29 | 1 4819 BOLTED PLUG PILOT SOCKET BRASS-SILVER PL. C38500 TO AS1567-1997 |—|
A MAX O/A ©26.0 201-304-1 95 14.0 38-165 Cu ‘EPEgb 5 28 |1 4820 BOLTED PILOT THIMBLE - BODY SIZE B HIGH TENSILE BRASS
201-305-1 120 16.0 38-165 Cu IeCEs XTC 22.D1108% 27 | 3 | AH151046 M4 X 6 GRUB SCREW ST.STEEL
] : b - 182 381830 i %g 1 ZSE S CO;JUPrIJ-/Ez;Rz:i:OEXEIH-Il'\g?r\II(E; el FREE CU'I@I:IFNEG BRASS
fan = = Fan % = 2 S.0. =
2 B i e o T T ooy WARNING 24 | 3 | AHI51040 Vi4 X 8 CSK PHILLIPS HD SCREW ST. STEEL
) - DO NOT SEPARATE WHEN ENERGIZED 23 | 3 | AH115115 M6 X 10 BUTTON HD SCREW STEEL-ZINC PL.
83.0 GROMMETS GROMMETS 22 | 3 AH150014 M6 SS PLAIN WASHER ST. STEEL
< - PART No.|CABLE ACCEPTANCE|[PART No. CABLE ACCEPTANCE o 2y 21 | 3 | AHO17206 35mm? LUG COPPER-TIN PL. D
D & 136.0 4021-25 22.0-25.0 402154 50.0-54.0 FIUEB24 ORANGE X15 20 [ 1 3685-2 POLARISING RIVET RIVETING & MACHINING BRASS
e 4021-30 24.0-30.0 4021-57 53.0-57.0 19 1 AH150011 M10 X 20 X 1.6 WASHER STEEL-ZINC PL.
149.0 302132 35.0-32.0 202160 56.0-60.0 425A 18 [ 1 | AH151011 M10 5Q SPRING WASHER STEEL-ZINC PL.
P - 202134 310340 TR =5.0640 1100V~ 660V 17 | 1 | AH113111 M10 X 16 HEX HEAD SCREW STEEL-ZINC PL.
pdobs S0 B24/N24 X15/N24 16 | 1 AI019030 O'RING ID 6.07 X SECT 1.78 NITRILE
DIM. 300A 425A 4851'33 gg.g-ag.g 0L h e 0 N24 SILVER BAND MIN. 25.0mm) 15 | 1 | AH151024 M6 X 25 SKT HD CAP SCREW ST. STEEL
A 15.80/15.85 | 18.97/19.02 S04 A0, 4021-70 66.0-70.0 14 | 1 | AH002972 5/32" X 1" SELLOCK PIN STEEL-ZINC PL.
X 4021-43 39.0-43.0 4021-76 69.0-76.0 END COVER 381 4014B 300/425A GLAND CAP CASTING HIGH TENSILE BRASS - NOTE 7
MAIN CONTACT PIN 4021-47 42.0-47.0 4021-80 75.0-80.0 M.LP. 12 | 4 | AH151039 M10 X 40 BUTTON HD SCREW ST. STEEL
4021-51 46.0-51.0 4021-83 79.0-83.0 F-80237 11 | 1 | A4021SERIES 300/425A CABLE GLAND GROMMET NEOPRENE RUBBER
IP66 10 | 3 4815 BOLTED COUPLER MAIN INSULATOR - UPPER PTFE
= 39 NOTES: R oot 9 | 3 | 201SERIES MAIN THIMBLE COPPER-SILVER PL_C14700 TO A51567-1997
g g 1. MINIMUM WALL THICKNESS 3.0mm UNLESS OTHERWISE SPECIFIED ON THE DRAWING. | TYPEA : g |3 AH009868 1/4" UNC X 21/4" SKT HD SCREW STEEL-ZINC PL.
T S — —~ = d 2. IN THE CASE OF BLIND HOLES FOR SCREWS, THE REMAINING THICKNESS OF 5.0, XXXKK-XX Z i ‘228823?2 3/16 XS:?T’?N%B%E SCREW e ciTRETE;Sg\'ECBPRLASS i
E @ MATERIAL UNDER THE HOLE IS A MINIMUM OF ONE THIRD OF THE SCREW WARNING T3 1016013 ORING ID 20.29 X SECT 62 NITRILE E
™~ 108.0 DIAMETER OR 3MM, WHICHEVER IS GREATER. DO NOT SEPARATE WHEN ENERGIZED] 4B 3 201-300-1 425A MAIN SOCKET COPPER-SILVER PL. C14700 TO A51567-1997
= 3. FLANGE THICKNESS AT BOLT HOLE IS 15.0/18.0mm. A | 3 201-299 300A MAIN SOCKET COPPER-SILVER PL. C14700 TO A51567-1957
114.0 4. THE SPECIFICATIONS, DIMENSIONS AND RATINGS COMPLY WITH AS/NZS1300 ;i g Q:ggggg gégﬁ gggﬁg ggmg § gggt
= ELECTRICAL EQUIPMENT FOR MINES AND QUARRIES. -
5. SPECIAL FASTENERS COMPLY WITH 150262 WITH A TOLERANCE FIT 6g/6H AND 211 -k BOLTED COUPLER MALHINED INTERIOR REF. DRAWINGY 4813
PILOT CONTACT PIN 1 1 4013-1B 300/425A BOLTED COUPLER - INT. GLAND HIGH TENSILE BRASS - NOTE 7
TESTING & CERTIFICATION
THREAD ENGAGEMENT IS 2 THE MAIOR DIAMETER AND THE CLEARANCE HOLE
ITEM | QTY | PART NUMBER DESCRIPTION MATERIAL
Lz IS NOT > H13(IS0286-2). e e
@ 12.0 +g-8 6. ALL MACHINED FLAMEPATH SURFACES AVERAGE Ra DOES NOT EXCEED 6.3um {IS0468). : PARTS LIST
e ATBOLTHOLE - MATERIAL HIGH TENSILE BRASS C86500 TO AS1565-1996 WITH A MINIMUM g Electrical
- e b R TENSILE STRENGTH 450 MPa AND MINIMUM 10% ELONGATION. el atis ol St
; . 8. TERMINATION FOR CONNECTION BETWEEN THIMBLE AND CABLE IS BY UTILUX PRODUCTS AND MUST NOT BE Products MlNTO IN DUSTRIAL PRODUCTS
| CRIMP DIE'S AS PER AS/NZS 4325 {IEC1238) OR SOLDER. LENT OR COPIED. divisi ¢ =
9. MINIMUM PROPERTY CLASS FOR STAINLESS STEEL FASTENERS IS A*-70. A division of CMI Operations Pty Ltd
F 10. MINIMUM PROPERTY CLASS FOR MILD STEEL FASTENERS IS 4.6. GENERAL TOLERANCE +£0.25  |DESCRIPTION 5
19110 NOM 11. MINIMUM TORQUE OF 20Nm FOR CABLE CLAMPING CAP SCREW IS FOR SEALING TEST ON MANDREL R ANGULAR TOLERANCE + 0.5 300/425A 660/1100V BOLTED COUPLER
- i g c ECN23029: ADDED SPECIFICATION FOR BLIND HOLE REMAINING WALL THICKNESS. 6/10/2023 R R EET INT.GLAND BODY SIZE B - MACHINED INTERIOR
END COVER . ECN22014: PILOT SOCKET CHANGED MATERIAL FROM COPPER TQ BRASS: PART NUMBER AH151040 e REFER TO TABLE DRWN IM Zha ng DATE 11/10/202 1 DRAWING No.
QTY CORRECTED TO 3 OFF: COPPER & BRASS STANDARD CORRECTED. NOTE 11 UPDATED DO NOT SCALE DRAWING EINISH FECH ~CALE - A3 F-864
REV ZONE| DESCRIPTION DATE APPROVED | DIMENSIONS IN MILLIMETERS COLOUR CODED TO AS/NZ$1300 ﬂ)m, 1 . 2
. ——
1 2 3 L 4 5 | 6










= O Sydney 15-20 Rallway Road Meadawbank NSW 2114 O Brisbane 4354 Zilmere Road Zilmere QLD 4034
-3l Electrical Postal Address! Locked Bag M3 Meadowbank NSW 2114 Postal Address: PO Box B42 Virginia Qld 4014
le Products Telephone: (02) 9807 B155 Facsimie: (02) 9808 2033 Telephore: (07) 3365 4745 Facsimile: (07) 3865 7494
O Melbourne 3-5 Dissik Street Cheltenham Vic 3192 0O Rockhampton Shop 3, 76 Holingsworth Street
S : Telephone: (03) 0532 1233 Facsimile: (03) 9553 3502 Narth Rackhampton QLD 4701
Adivision of CMI Operations Pty Ltd 0 Perth 36 Division Street Welshpoal WA 6106 Postal Address: PO Bowx 1124 North Rockhampton QLD 4701
ABN 87 088 279 270 Telephone: (08) 9353 1788 Facsimile: (05) 9358 1733 Telephone: (07} 4521 0978 Facsimile: (07) 4921 0931

For all account enguiries Phone (02) 8878 1220 Fax (02) 9803 4977

Instructions for Body Size B Bolted Range
Inst. Body Size B - 1

Catalogue Number Description
AB364T 300 AMP 660 VOLT 4 PIN BOLTED ADAPTER
AB464T 425 AMP 660 VOLT 4 PIN BOLTED ADAPTER
AB314T 300 AMP 1100 VOLT 4 PIN BOLTED ADAPTER
AB414T 425 AMP 1100 VOLT 4 PIN BOLTED ADAPTER
AA364T 300 AMP 660 VOLT 4 PIN BOLTED COUPLER
AA464T 425 AMP 660 VOLT 4 PIN BOLTED COUPLER
AA314T 300 AMP 1100 VOLT 4 PIN BOLTED COUPLER
AA414T 425 AMP 1100 VOLT 4 PIN BOLTED COUPLER
AA364T2 300 AMP 660 VOLT 4 PIN BOLTED COUPLER WITH INT. GLAND
AA464T2 425 AMP 660 VOLT 4 PIN BOLTED COUPLER WITH INT. GLAND
AA314T2 300 AMP 1100 VOLT 4 PIN BOLTED COUPLER WITH INT. GLAND
AA414T2 425 AMP 1100 VOLT 4 PIN BOLTED COUPLER WITH INT. GLAND
F-89237 END COVER
F-89237D END COVER WITH DIODE

e Adapter Installation

Confirm thimbles are suitable the conductors

Ensure there is no visible sign of damage to the adapter

Ensure the mounting pad complies with the attached sketch

The special fasteners used on the enclosures to mount the Adaptor to the flameproof enclosure

shall be of minimum grade 4.6 (yield stress 240 MPa). Or A*-70 Stainless Steel (yield stress 450 MPa)
or 4.6 Mild Steel (yield stress 240 MPa).

e Prepare the cables to the dimensions given in the Inst. Body Size B-2.
e Crimp or solder the thimbles to the phase and pilot cables

Coupler Installation

e Confirm components suitable for application e.g. thimbles and grommets suitable for the conductors and cable

Slide the gland cap, neoprene cone and plug body along the cable

Prepare the cables to the dimensions given in the Inst. Body Size B-2.

Crimp or solder the thimbles to the phase, pilot and earth cores

Fit the conductors to the appropriate location securing in place with screw through socket where appropriate
Assemble the coupler, ensuring the interior rotation conforms to AS/NZS1300

Fit blanking cover (F-89237) if required. Care should be taken not to damage the earth sleeve flamepath

e Slide the neoprene cone into position and bolt the gland cap to the body

0 Refer to Inst. Body Size B-2 for further details on installation and testing of cable fitment

e NOTE: For more information refer to TCG-1 No.2 to No.5 Glands Termination and Maintenance instruction.

Connection of Protective Earthing Conductors

e This range of bolted couplers and adaptors has facility for earthing conductors up to 150 mm?2.
e ltis the responsibility of the installer to determine and fit the correct sized earth conductors.

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or omission. Further, Minto
Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything and of the consequences of anything done or
omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved. No part of this work covered by copyright may be reproduced

or copied in any form or by any means without the written permission of Minto Industrial Products.
Inst. Body Size B-1 Page 1of 3
RevB 20220914



Electrical

Products

Adivision of CMI Operations Pty Lid
ABN 87 088 279 270

O sydney 13-20 Ralway Boad Meadowbank NSW 2114
Postal Address! Laocked Bag M3 Meadowhank N3W 2114
Telephone: (02) 9807 6155 Facsimie: (02) 9808 2033

O Melbourne 3-5 Dissik Street Cheltenham Vic 3192
Telephone: (03) 9532 1233 Facsimile: (03) 9553 3502

O Perth 36 Division Street Welshpool WA 6108
Telephone: (08) 9358 1788 Facsimile: (03) 9358 1733

For all account enguiries Phone (02) 8878 1220 Fax (02) 9803 4977

O Brisbane 4854 Zilmere Road Zilmers QLD 4034
Postal Address: PO Box 842 Virginia Qld 4014
Telephone: (07) 3865 4745 Facsimile: (07) 3865 7434
O Rockhampton Shop 3, 76 Holingswarth Street
Narth Rockhampton QLD 4701
Postal Address: PC Box 1124 North Rockharmpton QLD 4701
Telephone: (07) 4921 0978 Facsimile: (07) 4921 0981

e Use

e |solate power before connecting or disconnecting.

e Assembly

e Disassembly

Ensure sockets are clean and serviceable.
Ensure correct pin alignment.

Insert correct phase and pilot connecting pins
Bolt together using M12 x 50 special fasteners.

e Remove M12 x 50 bolts to separate.
e Remove phase and pilot connecting pins

e Fit blanking cover to flange.
e Certification Details:

Certified to:

IEC 60079-0; IEC 60079-1; AS/NZS 1300:

Certificate of Conformity: IECEx ExTC 22.0004X

Type of Protection: Ex db | Mb
Type (AS/NZS 1300) Type A
Ingress Protection: IP 66

e Certification Nameplate Details

TYPICAL 300/425A BOLTED COUPLER TYPICAL 300/425A BOLTED COUPLER (INT | TYPICAL 300/425A BOLTED ADAPTOR

RATING PLATE DETAILS GLAND) RATING PLATE DETAILS RATING PLATE DETAILS

M.I.P. M.1.P. M.I.P.

AA@#AT AA@#4T2 AB@#4T

@ AMPS 3=300 # VOLTS 6=660 @ AMPS 3=300 # VOLTS 6=660 @ AMPS 3=300 # VOLTS 6=660
4=425 1=1100 4=425 1=1100 4=425 1=1100

IP66 IP66 IP66

Ex db | Mb Ex db | Mb Ex db | Mb

IECEX EXTC 22.0004X IECEX EXTC 22.0004X IECEX EXTC 22.0004X

TYPE A TYPE A TYPE A

S.0. XXXXX-XX S.0. XXXXX-XX S.0. XXXXX-XX

WARNING WARNING WARNING

DO NOT SEPARATE WHEN ENERGIZED DO NOT SEPARATE WHEN ENERGIZED DO NOT SEPARATE WHEN ENERGIZED

TYPICAL 300/425A END COVER
RATING PLATE DETAILS

TYPICAL 300/425A END DIODE COVER
RATING PLATE DETAILS

DO NOT SEPARATE WHEN ENERGIZED

M.I.P. M.I.P.

F-89237 F-89237D

IP66 IP66

Ex db | Mb Ex db | Mb

IECEX EXTC 22.0004X IECEX EXTC 22.0004X
TYPE A TYPE A

S.0. XXXXX-XX S.0. XXXXX-XX
WARNING WARNING

DO NOT SEPARATE WHEN ENERGIZED

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or omission. Further, Minto
Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything and of the consequences of anything done or
omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved. No part of this work covered by copyright may be reproduced

or copied in any form or by any means without the written permission of Minto Industrial Products.

Inst. Body Size B-1 Page 2 of 3
RevB 20220914




Electrical

Products

Adivision of CMI Operations Pty Lid
ABN 87 088 279 270

0 Sydney 18-20 Railway Road Meadowbank N3W 2114 O Brisbane 4854 Jilmere Boad Zilmere GLD 4034

Postal Address: Locked Bag M3 Meadowbank NSW 2114 Postal Address: PO Box 642 Virginia Qld 4014
Telephone: (02) 9807 6155 Facsimie: (02) 9808 2033 Telephone: (07) 3865 4745 Facsimile: (07) 3865 7434
O Melbourne 3-5 Dissik Street Cheltenham Vic 3192 0O Rockhampton Shop 3, 76 Hollingsworth Street
Telephone: (031 9532 1233 Facaimile: (03) 9553 3002 EOFTF ‘R’Sgghampéog |%“-D 14172%9 North Rockh fon OLD 4701
O Perth 36 Division Street ‘Welshpool WA 6106 0sla ress. O, orif RocKhamplon
Telephone: (02) 9353 1753 Facsimile: (05) 9355 1733 Telephone: (07) 4321 0976 Facsimile: (07) 4521 D931

For all account enguiries Phone (02) 8878 1220 Fax (02) 9803 4977

e Specific Conditions of Use

e The special fasteners used to assemble the end cover, coupler and adaptor and mount the adaptor to the
Ex d enclosure shall be of minimum grade A*-70 Stainless Steel (yield stress 450 MPa) or 4.6 Mild Steel
(vield stress 240 MPa).

e The special fasteners used to assemble the cable gland clamping cap shall be M10 x 40 button head screw
and shall be of minimum grade A*-70 Stainless Steel (yield stress 450 MPa) or 4.6 Mild Steel (yield stress

240 MPa).

e When the adaptor is not joined to a coupler the adaptor shall be blanked by the end blanking cover.

e The flange flamepath used to assemble the adaptor to flameproof enclosures shall be of minimum width
12.5mm and maximum gap 0.4mm and a surface roughness Ra of 6.3um or better.

e Maintenance

. Inspection shall include cleanliness and compliance with certification documentation.
. Check as per AS/NZS2290.1

e Overhaul and Repair

. To be carried out by suitable workshop.
o It is recommended that the equipment is overhauled at intervals that do not exceed the requirements of

AS/NZS2290.1

e Operating Temperature

. Operating temperature range -20°C to +40°C and average temperature over 24 hours is not to exceed

35°C

Refer to Inst. Body Size B - 2 for additional detailed instructions

This brochure is distributed with the understanding that the authors and editors are not responsible for the results of any actions taken on the basis of the information in this work, or any errors or omission. Further, Minto
Industrial Products is not engaged in rendering professional services. Minto Industrial Products expressly disclaims all and any liability to any person in respect of anything and of the consequences of anything done or
omitted to be done by any such person in reliance whether whole or partial of the whole or any part of the contents of this publication. All rights reserved. No part of this work covered by copyright may be reproduced
or copied in any form or by any means without the written permission of Minto Industrial Products.

Inst. Body Size B-1 Page 3of 3
RevB 20220914



	F-863 rev B (300-425A 660-1100V Bolted Coupler) 20220803 - Stamped
	F-864 rev B (300-425A 660-1100V Bolted Coupler - With Int. Gland) 20220906 - Stamped
	F-865 rev B (300-425A 660-1100V Bolted Adaptor) 20220803 - Stamped
	F-866 rev A (300-425A Diode Blanking Cover) 20220406 - Stamped
	Inst Body Size B rev B 20220914 - Signed

